o0& 3 %9 &

® 248 +8

@ 126=-9

2 A A2 747 08 b

@ 42+4

® 153=6



oﬂ 14L7]' 1:1-7] z/\
E7bo] Lhio] npA] 1



0
O

At

ol

=471 20.61 cm
2 cm JY7R?

3.

cm



Bl



5. 44

17t 52t 228.47kmE ﬂ% AE17} Q& UTh 7o w2
302 e EE A E W HSk] &
(0.666 - -- — <F 0.67)

o =4 A 7HA] YEFA 2
a Ct- OF

=



A

=4

&

=

i

wreRste] 44 3 A7) et

= gntelx] FotAL.

A2t verd 5] 7






Fol 71 2 A3 AV 2 A A8 FoHAL.

@ 46.8+6 © 90.16 + 14

© 108.16 + 13 ® 136.51 + 17

SR
=%



— 9F0.67)

e 742] YER AL L. ©F 0.666 - - -

1179cm  136.8cm  80.3cm 169.2 cm

cm

or

.

Ul



FA7F 62.13kgel AU o] 7

]E ey =A 7 2371 kgo] R
]Z] o]—/x]

kg

fujr

-



11.

Qe .



7

Cm2



13.

24+ 7 & Wirojdel A7 ehgyt

ol g ol 2] 7] shel e, Lhrol A

Ae 58 AL

Yk
=%

o] Aste
Sroll gtz

& 2raAl Aol

S slof sh=A) 7ha



14. 7F27} 12m o)A, 27} 19m Q1 HAMLE mefFe] dro] oI5yt
H22o] ZolE 3m &, 7tz o] doj= 2 m 5 5ofoF A2 ylole}
Lotz F =] oA 2

= m



Pt gHlol= 0.75kmE Gl = AlRE 5 A A5 A=l
g9 o= S0Pt YKt 22 AR Sot o A5H Oﬂ/ﬂ =
10mFARL, F 94 &2 dofl= §rlol7F 9mAA S5H3l

T A 1I5mFASUY. 280 890 0.75kmE 2 J;Oﬂ D*Eﬂ
MEU7Y (BhERlote] A AR 22| 7kA] A5HA 2.)

O 1071 % @ 1072 % ® 1073 %=

@® 1074 % B 107.5 %



